

To,
 Connectivity IT Solutions Private Limited
 3rd Floor, OFFICE NO.309, Ecostar Premises Co-operative Society Ltd, VISHWESHWAR ROAD, NEAR UDIPI HOTEL, GOREGAON EAST, Mumbai Suburban, Maharashtra,

Date	10 Jan 2022
P.O No.	D ESL EWM 2021-22 1577
P.O Date	10 Jan 2022
Kind Attn.	Ruchesh Bhanushali
GSTIN No.	27AAACK3792N1Z0

Dear Sir,

We refer to your proposal dated 10 Jan 2022 addressed to Edelweiss Securities Limited. We are pleased to place our Purchase Order with you as per the following terms and conditions for Cisco switches Purchase- Connectivity .

No.	Description	Qty	UOM	Rate	Tax	Gross Amt.
1	Cisco ISR 4451 AX Bundle with APP and SEC license CAB-IND "AC Power Cord (India)" 2 SL-44-IPB-K9 "IP Base License for Cisco ISR 4400 Series 1 ISRWAAS- RTU-2500 ISRWAAS RTU for 2500 connections" 1 SL-44-SEC-K9 Security License for Cisco ISR 4400 Series" 1 WAAS-RTU- 2500 WAAS and VWAAS Right to Use for 2500 connections" 1 CON-ECMU- WS2500 : SWSS UPGRADES 1 WAAS and VWAAS Right POE-COVER- 4450 "Cover for empty POE slot on Cisco ISR 4450 2 MEM-4400-DP- 2G "2G DRAM (1 DIMM) for Cisco ISR 4400 Data Plane" 1 SL-44-APP-K9 :AppX License for Cisco ISR 4400 Series 1 SISR4400UK9- 172 Cisco ISR 4400 Series IOS XE Universal" 1	1.00	Unit	616,591.03	Amount Exclusive Of Taxes	616,591.03
2	2-port GE WAN NIM, dual-mode RJ45 & SFP	5.00	Unit	35,484.83	Amount Exclusive Of Taxes	177,424.15
3	AC Power Supply (Secondary PS) for Cisco ISR 4450 PWR-4450-AC : "AC Power Supply for Cisco ISR 4450 and ISR4350" 1	1.00	Unit	15,814.97	Amount Exclusive Of Taxes	15,814.97
4	SM-X Adapter for one NIM module for Cisco 4000 Series ISR	2.00	Unit	15,814.97	Amount Exclusive Of Taxes	31,629.94
5	4G to 16G DRAM Upgrade (8G+8G) for Cisco ISR 4400	1.00	Unit	39,537.42	Amount Exclusive Of Taxes	39,537.42
6	8G to 32G Compact Flash Memory Upgrade for Cisco ISR 4450	1.00	Unit	49,421.78	Amount Exclusive Of Taxes	49,421.78

Edelweiss Securities Limited

Corporate Identity Number: U67110AP1993PLC052266

Registered Office: 2nd Floor, MB Towers, Plot No. 5, Road No. 2, Banjara Hills, Hyderabad - 500 034 Tel. No.: +91 40 4031 6900
 Corporate Office: Edelweiss House, Off. C.S.T. Road, Kalina, Mumbai - 400 098 Tel. No.: +91 22 4009 4400

7	Nexus 9K ACI & NX-OS Spine, 64p 40/100G QSFP28 MODE-NXOS Dummy PID for mode selection 2 "N9K-C9300- RMK Nexus 9K Fixed Rack Mount Kit 2 "N9K-C9300- ACK Nexus 9K Fixed Accessory Kit 2 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 4 NXOS-9.3.7 Nexus 9500, 9300,3000 Base NX-OS Software Rel 9.3.7 2 NXK-AF-PI Dummy PID for Airflow Selection Port-side Intake 2 NXA-PAC-1200W-PI Nexus NEBs AC 1200W PSU - Port Side Intake 4 NXA-FAN- 160CFM-PI Nexus Fan, 160CFM, port side intake airflow 6 SVS-B-N9K- ADV-XF2 EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K 2	2.00	Unit	1,165,199.43	Amount Exclusive Of Taxes	2,330,398.86
8	100GBASE QSFP Active Optical Cable, 20m	4.00	Unit	47,346.07	Amount Exclusive Of Taxes	189,384.28
9	QSFP to SFP10G adapter	60.00	Unit	7,441.46	Amount Exclusive Of Taxes	446,487.60
10	10GBASE-SR SFP Module	392.00	Unit	21,155.01	Amount Exclusive Of Taxes	8,292,763.92
11	1000BASE-T SFP transceiver module for Category 5 copper wire	420.00	Unit	9,567.60	Amount Exclusive Of Taxes	4,018,392.00

					Amount Exclusive Of Taxes	
12	Nexus 3524-XL 24 SFP+ ports, Enhanced, Extended Memory N3548-BAS1K9 "Nexus 3500 Base 2 NXOS-9.2.2 Nexus 9500, 9300 3000 Base NX-OS Software Rel 9.2.2 2 N3548-24P-LIC Nexus 3524 Factory Installed 24 port license 2 N3K-C3064- ACC-KIT "Nexus 3K/9K Fixed Accessory Kit 2 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 4 NXA-FAN- 30CFM-B Nexus Fan, 30CFM, port side intake airflow 8 N2200-PAC- 400W-B Nexus 400W Power Supply, Port side Intake 4 N3548-BAS1K9 Nexus 3500 Base License 8 NXOS-9.2.2 Nexus 9500, 9300, 3000 Base NX-OS Software Rel 9.2.2 8 NXA-FAN- 30CFM-F Nexus Fan, 30CFM, port side exhaust airflow 32 N3548-24P-LIC Nexus 3524 Factory Installed 24 port license" 8 N3K-C3064- ACC-KIT Nexus 3K/9K Fixed Accessory Kit 8 N2200-PAC- 400W Nexus 400W AC Power Supply, Std airflow (port side exhaust) 16 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 16	10.00	Unit	309,095.78		3,090,957.80
13	Nexus 3524 Layer 3 LAN Enterprise License	10.00	Unit	79,074.85	Amount Exclusive Of Taxes	790,748.50
14	10GBASE-CU SFP+ Cable 5 Meter	20.00	Unit	2,965.31	Amount Exclusive Of Taxes	59,306.20
15	Nexus 3548-XL 48 SFP+ ports, Enhanced, Extended Memory N3548-BAS1K9 Nexus 3500 Base License 6 NXOS-9.2.2 Nexus 9500, 9300, 3000 Base NX-OS Software Rel 9.2.2" 6 NXA-FAN- 30CFM-F Nexus Fan, 30CFM, port side exhaust airflow 24 N3K-C3064- ACC-KIT Nexus 3K/9K Fixed Accessory Kit 6 N2200-PAC- 400W Nexus 400W AC Power Supply, Std airflow (port side exhaust) 12 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 12	6.00	Unit	529,038.88	Amount Exclusive Of Taxes	3,174,233.28
16	Nexus 3548 Layer 3 LAN Enterprise License	6.00	Unit	158,149.70	Amount Exclusive Of Taxes	948,898.20
17	Nexus 9300-FX w/24p 1/10/25G & 6p 40/100G				Amount Exclusive Of Taxes	

Edelweiss Securities Limited
Corporate Identity Number: U67110AP1993PLC052266

Registered Office: 2nd Floor, MB Towers, Plot No. 5, Road No. 2, Banjara Hills, Hyderabad - 500 034 Tel. No.: +91 40 4031 6900

Corporate Office: Edelweiss House, Off. C.S.T. Road, Kalina, Mumbai - 400 098 Tel. No.: +91 22 4009 4400

<p>NXK-ACC-KIT- 1RU Nexus 3K/9K Fixed Accessory Kit,1RU front and rear removal 2 MODE-NXOS Dummy PID for mode selection 2 NXOS-9.3.7 Nexus 9500, 9300,3000 Base NX-OS Software Rel 9.3.7 2 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 4 SVS-B-N9K- ADV-XF EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K 2</p> <p>NXK-AF-PI Dummy PID for Airflow Selection Port-side Intake 2 NXA-FAN- 30CFM-B Nexus Fan,30CFM, port side intake airflow 8 NXA-PAC- 500W-PI Nexus NEBs AC 500W PSU - Port Side Intake 4</p> <p>NXK-AF-PE Dummy PID for Airflow Selection Port-side Exhaust 8 NXK-ACC-KIT- 1RU Nexus 3K/9K Fixed Accessory Kit,1RU front and rear removal 8 NXA-FAN- 30CFM-F Nexus Fan, 30CFM, port side exhaust airflow" 32 NXA-PAC- 500W-PE Nexus NEBs AC 500W PSU - Port Side Exhaust 16 MODE-NXOS Dummy PID for mode selection 8 NXOS-9.3.7 Nexus 9500, 9300,3000 Base NX-OS Software Rel 9.3.7 8 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 16 SVS-B-N9K- ADV-XF EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K" 8</p> <p>NXK-AF-PE Dummy PID for Airflow Selection Port-side Exhaust"6 NXK-ACC-KIT- 1RU Nexus 3K/9K Fixed Accessory Kit, 1RU front and rear removal 6 NXA-FAN- 30CFM-F Nexus Fan, 30CFM, port side exhaust airflow 24 NXA-PAC- 500W-PE Nexus NEBs AC 500W PSU - Port Side Exhaust 12 MODE-NXOS Dummy PID for mode selection 6 NXOS-9.3.7 Nexus 9500, 9300, 3000 Base NX-OS Software Rel 9.3.7 6 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 12 SVS-B-N9K- ADV-XF EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K 6</p> <p>NXK-AF-PE Dummy PID for Airflow Selection Port-side Exhaust 2 NXK-ACC-KIT- 1RU Nexus 3K/9K Fixed Accessory Kit, 1RU front and rear removal 2 NXA-FAN- 30CFM-F Nexus Fan, 30CFM, port side exhaust airflow 8</p>	18.00	Unit	489,660.58	8,813,890.44
--	-------	------	------------	--------------

	NXA-PAC- 500W-PE Nexus NEBs AC 500W PSU - Port Side Exhaust 4 MODE-NXOS Dummy PID for mode selection 2 NXOS-9.3.7 Nexus 9500, 9300,3000 Base NX-OS Software Rel 9.3.7 2 CAB-C13-C14- IN "Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 4 SVS-B-N9K- ADV-XF EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K 2					
18	100GBASE QSFP Active Optical Cable, 3m	6.00	Unit	39,438.58	Amount Exclusive Of Taxes	236,631.48
19	1000BASE-SX SFP transceiver module, MMF, 850nm, DOM	142.00	Unit	10,630.66	Amount Exclusive Of Taxes	1,509,553.72
20	100G and 40GBASE SR-BiDi QSFP Transceiver, LC, 100m OM4 MMF	70.00	Unit	42,416.33	Amount Exclusive Of Taxes	2,969,143.10
21	Nexus 9200 with 48p 100M/1GT, 4p 10/25G & 2p 40/100G QSFP28 NXOS-9.3.7 Nexus 9500, 9300,3000 Base NX-OS Software Rel 9.3.7 2 NXK-ACC-KIT- 1RU "Nexus 3K/9K Fixed Accessory Kit, 1RU front and rear removal 2 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India 4 SVS-B-N9K- ESS-GF EMBEDDED SOLN SUPPORT SWSS FOR ACI NEXUS 9K" 2 NXK-AF-PI Dummy PID for Airflow Selection Port-side Intake 2 NXA-FAN- 30CFM-B Nexus Fan, 30CFM, port side intake airflow" 6 N2200-PAC- 400W-B Nexus 400W Power Supply, Port side Intake 4	2.00	Unit	174,466.91	Amount Exclusive Of Taxes	348,933.82
22	1100W AC 80+ platinum Config 1 Secondary Power Supply	2.00	Unit	37,560.55	Amount Exclusive Of Taxes	75,121.10
23	Catalyst 9300 8 x 10GE Network Module	2.00	Unit	50,410.21	Amount Exclusive Of Taxes	100,820.42
24	3M Type 1 Stacking Cable	2.00	Unit	5,930.62	Amount Exclusive Of Taxes	11,861.24
25	Catalyst Stack Power Cable 150 CM - Upgrade	2.00	Unit	1,976.87	Amount Exclusive Of Taxes	3,953.74
26	Catalyst 1000 24port GE, 4x1G SFP CAB-IND-10A 10A Power cable for India 33 PWR-CLP Power Retainer Clip For 3560-C, 2960-L & C1000 Switches 33	33.00	Unit	27,179.58	Amount Exclusive Of Taxes	896,926.14

27	Cisco Firepower 2140 ASA Appliance, 1U, 1 x NetMod Bay FPR2140-BUN Cisco Firepower 2140 Master Bundle 1 L-FPR2140T- TM Cisco FPR2140 Threat Defense Threat and Malware License 2 CAB-C13-C14- IN Power Cord Jumper, C13-C14 Connectors,1.4 Meter Length India" 4 SF- F2KASA9.14.1- K9 Cisco ASA 9.14.1 Software for Firepower 2100 appliances 2 FPR2K-ENC-K9 Cisco Firepower 2100 Strong Encryption (3DES/AES) 2 FPR2K- SSD200 Firepower 2000 Series SSD for FPR-2130/2140 2 FPR2K-SLIDE- RAILS Firepower 2000 Slide Rail Kit 2 FPR2100-ASA "Cisco Firepower 2100 Standard ASA License 2 FPR2K-NM- BLANK Firepower 2000 Series Network Module Blank Slot Cover 2 FPR2K-FAN Firepower 2000 Series Fan Tray 2 FPR2K-PWR- AC-400 Firepower 2000 Series 400W AC Power Supply 4 FPR2K-SSD- BBLKD Firepower 2000 Series SSD Slot Carrier 2	2.00	Unit	1,187,970.78	Amount Exclusive Of Taxes	2,375,941.56
28	Nexus 3524, Second 24 Ports, E-Delivery	1.00	Unit	276,761.96	Amount Exclusive Of Taxes	276,761.96
29	Nexus 9300 48 Port upgrade License for FX Switches	1.00	Unit	128,496.63	Amount Exclusive Of Taxes	128,496.63
30	10GBASE-SR SFP Module L-AC-PLS-LIC= Cisco AnyConnect Plus Term License, Total Authorized Users 50 L-FPR2140-P= Cisco Defense Orchestrator for Firepower 2140" 2	8.00	Unit	16,532.86	Amount Exclusive Of Taxes	132,262.88

31	Catalyst 9300 48 GE SFP Ports, modular uplink Switch C9300-NW-A- 48 C9300 Network Advantage, 48-port license 2 "SC9300UK9- 173 UNIVERSAL 2 PWR-C1- 715WAC-P 715W AC 80+ platinum Config 1 Power Supply 2 CAB-TA-IN India AC Type A Power Cable4 TE-C9K-SW TE agent for IOSXE on C9K 2 C9300-DNA-A- 48S "C9300 DNA Advantage, 48-Port Fiber Term Licenses 2 TE- EMBEDDED-T Cisco ThousandEyes Enterprise Agent IBN Embedded 2 PI-LFAS-T Prime Infrastructure Lifecycle & Assurance Term -Smart Lic 2 NETWORK- PNP-LIC "Network Plug-n- Play Connect for zero-touch device deployment"2	2.00	Unit	534,388.53	Amount Exclusive Of Taxes	1,068,777.06
32	SNTC-24X7X4 Cisco ISR 4451 AppX	1.00	Unit	619,202.49	Amount Exclusive Of Taxes	619,202.49
33	SNTC-24X7X4 Nexus 9K ACI NX-OS Spine, 64p 40 100G	2.00	Unit	515,450.20	Amount Exclusive Of Taxes	1,030,900.40
34	SNTC-24X7X4 Nexus 3524-XL 24 SFP+ ports, Enhanced, E	10.00	Unit	150,385.64	Amount Exclusive Of Taxes	1,503,856.40
35	SWSS UPGRADES Nexus 3524 Ler 3 LayAN Enterprise Licens	10.00	Unit	28,617.17	Amount Exclusive Of Taxes	286,171.70
36	SNTC-24X7X4 Nexus 3548-XL 48 SFP+ ports, Enhanced, E	6.00	Unit	257,863.08	Amount Exclusive Of Taxes	1,547,178.48
37	SWSS UPGRADES Nexus 3548 Layer 3 LAN Enterprise Licens	6.00	Unit	57,349.73	Amount Exclusive Of Taxes	344,098.38
38	SNTC-24X7X4 Limited orderability	18.00	Unit	236,202.02	Amount Exclusive Of Taxes	4,251,636.36
39	SNTC-24X7X4 Nexus 9200 with 48p 100M/1GT, 4p 10/25G	2.00	Unit	85,816.39	Amount Exclusive Of Taxes	171,632.78
40	SNTC-24X7X4 Catalyst 9300 48 GE SFP Ports, modular u	2.00	Unit	392,934.20	Amount Exclusive Of Taxes	785,868.40
41	SNTC-24X7X4 Catalyst 1000 24port GE, 4x1G SFP, LANBa	33.00	Unit	20,971.21	Amount Exclusive Of Taxes	692,049.93
42	SNTC-24X7X4 Cisco Firepower 2140 ASA Appliance, 1U	2.00	Unit	1,018,325.57	Amount Exclusive Of Taxes	2,036,651.14
43	SWSS UPGRADES Nexus 3524, Second 24 Ports, E-Delivery	1.00	Unit	87,196.07	Amount Exclusive Of Taxes	87,196.07
44	SWSS UPGRADES Nexus 9300 48 Port upgrade License for F	1.00	Unit	40,537.64	Amount Exclusive Of Taxes	40,537.64
45	Cisco Defense Orchestrator for Firepower 2140 5yr subscr	2.00	Unit	161,397.23	Amount Exclusive Of Taxes	322,794.46
46	Cisco AnyConnect Plus License, 3YR, 25-99 Users	50.00	Unit	319.07	Amount Exclusive Of Taxes	15,953.50
47	Cisco FPR2140 Threat Defense Threat and Malware 5Y Subs	2.00	Unit	1,175,079.48	Amount Exclusive Of Taxes	2,350,158.96

48	C9300 DNA Advantage, 48-Port Fiber, 5 Year Term License TE-EMBEDDED- T-5Y ThousandEyes - Enterprise Agents 2 PI-LFAS-AP-T5Y PI Dev Lic for Lifecycle & Assurance Term 5Y 2	2.00	Unit	83,522.81	Amount Exclusive Of Taxes	167,045.62
49	Nexus 9300 XF, 10G or higher (up to 3.6T)	18.00	Unit	414,935.10	Amount Exclusive Of Taxes	7,468,831.80
50	Nexus 9300 GF 1G	2.00	Unit	116,109.29	Amount Exclusive Of Taxes	232,218.58
51	Nexus 9300 XF2 or higher (up to 6.4T)	2.00	Unit	1,043,349.68	Amount Exclusive Of Taxes	2,086,699.36
Amount Exclusive Of Taxes						0.00
						Total 69,261,747.67

Amt in Words: Rupees Six Crore Ninety Two Lacs Sixty One Thousand Seven Hundred Forty Seven and Sixty Seven Paise only

Terms & Conditions:-

1 Notes

- Delivery Challan & Purchase Order copy has to be attached while submitting the invoices.
- Order will be treated as cancelled if the delivery not done within the delivery period.
- If the items delivered are found damaged/faulty on delivery/installation the same shall be replaced with new items and not with repaired items.
- Kindly raise Invoice through IP2P Portal. URL to access IP2P Portal: ip2p.edelweissfin.com.
- Kindly mention Purchase order No. on the Invoice. Invoice should be digitally signed or it requires Physical signature and stamp.
- On the Invoice copy, Start Date and End Date is mandatory if PO belongs to Software or Service.
- Warranty : 3 years
- PO is created as per quote and Annexure attached.
- Delivery terms: Within 182 Days
- This Purchase Order is system generated hence signature not required on Purchase Order.

2 General Terms

- Billing address: 1st Floor, Tower 3, Wing B, Kohinoor City Mall, Kohinoor City, Kirol Road, Kurla(W), Mumbai, Pincode:- 400070
- Contact Person : Satyender Sharma 79829 41818

Edelweiss Securities Limited

Corporate Identity Number: U67110AP1993PLC052266

Registered Office: 2nd Floor, MB Towers, Plot No. 5, Road No. 2, Banjara Hills, Hyderabad - 500 034 Tel. No.: +91 40 4031 6900
 Corporate Office: Edelweiss House, Off. C.S.T. Road, Kalina, Mumbai - 400 098 Tel. No.: +91 22 4009 4400

- Payment Terms :
- Year1toYear3 – Hardware, Subscription-EA, Subscription- Non EA, Services Contract of total amount INR 6,92,61,747.04 - 50% [INR 3,46,30,874] to be paid on delivery invoice and balance 50% [INR 3,46,30,874] to be paid within 30 Days from the date of Delivery invoice
- Year 4 – Subscription- Non EA, Services Contract and Subscription-EA to be paid in advance at the beginning of the year. Please note: Enterprise Agreement value will be as per actuals basis on the additional consumption which can also vary in the 2nd & 3rd year and in case of extended usage of revised invoice will be generated for EA every year to be paid in advance. Total of INR 86,80,227.35 for 4th year in which Services Contract + Subscription- Non EA is fixed of INR 54,17,644.11 and Subscription- EA will be as per actuals/consumption by EWM
- Year 5 – Subscription- Non EA, Services Contract and Subscription-EA to be paid in advance at the beginning of the year. Please note: Enterprise Agreement value will be as per actuals basis on the additional consumption which can also vary in the 2nd & 3rd year and in case of extended usage of revised invoice will be generated for EA every year to be paid in advance. Total of INR 86,80,227.35 for 4th year in which Services Contract + Subscription- Non EA is fixed of INR 54,17,644.11 and Subscription- EA will be as per actuals/consumption by EWM
- In case of cancellation of services/EA contract before 5 year's from the start date, there will be a cancellation/termination charges which has to be cleared.
- EA billing/prices may vary basis on the consumption report and Edelweiss will be make the payment for the delta value incase of increased consumption / billing. (The above prices are structured only basis on the above bill of material)
- Delivery address: 1st Floor, NTT DC 7 , Light Hall, 'E' Wing, Hiranandani Business Park, Saki Vihar Road, Saki Vihar, Chandivali, Mumbai , Maharashtra - 400072

For Edelweiss Securities Limited

Authorized Signatory

Edelweiss Securities Limited

Corporate Identity Number: U67110AP1993PLC052266

Registered Office: 2nd Floor, MB Towers, Plot No. 5, Road No. 2, Banjara Hills, Hyderabad - 500 034 Tel. No.: +91 40 4031 6900
Corporate Office: Edelweiss House, Off. C.S.T. Road, Kalina, Mumbai - 400 098 Tel. No.: +91 22 4009 4400